Yamaha G14/16/19/22 Nerf Bars w/ Diamond
Plate Inlays

Installation Instructions

Black- Part# 30866 Stainless Part# 28344

o

- L

Hardware Kit
4- 1 Spacers

6- 1/4” lock nuts
8- 5/16" locknuts
6- 1/4” washers
8
6
4

- 5/16” washers

- ¥4 X ¥ button heads

- 5/16 x 2 % button heads
4-5/16 x 1 ¥ bolts

A/Wagx wean appoprials
ege protoction!

Installation Instructions:

1. Remove the plastic rocker covers from both sides of
the cart.

2. Using the supplied " x % button heads, "4” washers, &
Y4 locknuts install the diamond plate rockers to the nerf
bars.

3. Hold the nerf bars against the outside of the rockers.
Using a punch mark one of the proposed mounting Figure 2
areas as shown in Figure 1. NOTE: Before drilling,
make sure hole locations do not interfere with the
carts original gussets, brackets or accessory wiring
on the backside of the rocker panels.

4. Drill a 5/16” hole in the marked location as shown in
Figure 2. Measure from the bottom of the rocker to
the center of the drilled hole. Measure from center
hole to center hole of the nerf bar mounts. Using these
measurements mark and drill the 2" hole for
mounting the nerf bars.

5. Using the supplied 5/16 x 1 ¥4 bolts, locknuts,
spacer plate and support plate mount the support
plate to the stock rocker support as shown in
Figure 4.

6. Using the supplied 2" spacer, 5/16 x 2 ' button
head bolts, 5/16 washers, & 5/16 locknuts mount
the nerf bars to the back side of the stock rockers
as shown in Figure 3.

Reinstall stock rocker covers.
8. Repeat steps 2-7 for the other side of the cart.

Figure 1

~

S -
2 d Hl‘«E&S
SN TTK LH NS

866-405-253 7
www.jakesliftkits.com




